
Dr.-Ing. Dieter Seifert      Oct. 2017 
Solar Cooker Development      Page G1 
Siedlungsstr. 12; D-84524 Neuötting 

Ben 2 and Ben 3 – Fuelwood Stoves 
Annex G) 

Protection of the Upper Edge of the Stove Shell With a Stainless Steel Strip 
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove  

The upper edge of the stove shell can be protected against corrosion with a  
stainless steel strip. An available punched stainless steel strip which can be used  
for this purpose is 1mm thick and 17mm wide. It can be cut according to the  
length of the stove shell with a hand-held metal shears and it will be clamped at the top of the 
stove shell with three clamps (piece 12, Fig G3) and three screws passed below the punched strip. 
Additionally the protecting strip is clamped on three further points as depicted on page G3. For 
simple assembling, no screws are passed through the punched holes of the protecting strip: the 
strip is only clamped at all 6 points.  
 
A gap of at least 7mm between the pot and the stove shell is recommended. If the pot has an outer 
diameter of 300mm and if the furnace shell is formed from a 1m long sheet and if a 14mm overlap 
of the ends is realized (see Annex A), then the gap is 7mm. (1000mm - 14mm) / π / 2 - 150mm = 
7mm. Thus the stainless steel strip would make the gap too small. Therefore the 14mm overlap of 
the stove shell should be avoided. To replace the overlap, two 24mm long perforated strip sections 
(pieces 11) are fastened between the ends of the stove shell. As a result, the diameter of the oven 
shell is increased by about 4mm. The following pages give details for the protection of the upper 
edge of the stove shell. 

http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove


Dr.-Ing. Dieter Seifert      Oct. 2017 
Solar Cooker Development      page G2 
Siedlungsstr. 12; D-84524 Neuötting 

Ben 2 and Ben 3 – Fuelwood Stoves 
Annex G) 

Protection of the Upper Edge of the Stove Shell With a Stainless Steel Strip 
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove  

Fig. G2 
Components 

for protecting 
edge of the 
stove shell  

Fig. G1    Stove Shell with protecting
 punched stainless steel strip (9)  

 3b 
 
 9 
 
 5b 
 
 
 
 7 
 
11 
 
12 
 
 6 
 
 8 

12 

11 

punched 
stainless steel 
strip (10m)  

Item 

Number

Quantity 

of Pieces Item

Drawing./ 

standard

3b 1 Stove Shell for up to 30cm Pot Annex A

5b 3 Screw M6x40 as Shield Fastener DIN 933 

6 6 Screw M6x16 DIN 933 

7 18 Serrated Nut M6 Annex G4

8 2 Washer 6x18 Annex G4

9 1 Protection Punched Strip 17x1000mm Annex G4

11 2 Connector Punched Strip 17x12mm Annex G4

12 3 Clamp Punched Strip 17x60mm Annex G4

7 

http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove


Dr.-Ing. Dieter Seifert      Oct. 2017 
Solar Cooker Development      Page G3 
Siedlungsstr. 12; D-84524 Neuötting 

Ben 2 and Ben 3 – Fuelwood Stove 
Annex G) 

Protection of the Upper Edge of the Stove Shell With a Stainless Steel Strip 
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove  

12 

11 

9 

12 9 

7 

3b 11 

6 

7 

1 x 

2 x 

3 x 

Fig. G3  
Assembling components for protecting edge of the stove shell 
The photo shows 3 screws M6x40 (5b) for fixation of a stove shield (5a). Stainless 

steel screws(5b) are advantageous (longer lifetime and lower heat conduction)   

5b 

http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove


Dr.-Ing. Dieter Seifert      Oct. 2017 
Solar Cooker Development      Page G4 
Siedlungsstr. 12; D-84524 Neuötting 

Ben 2 and Ben 3 – Fuelwood Stoves 
Annex G) 

Protection of the Upper Edge of the Stove Shell With a Stainless Steel Strip 
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove  

List of Pieces Ben 3 Annex G) Oct. 2017 Dr.-Ing. Dieter Seifert

with stainless steel edge protection of stove shell for pot diameter 30cm  (without rack Annex F)

Item 

Number

Quantity 

of 

Pieces Item Drawing./ standard Material

Thick-

ness or 

diam. Width Length

Cross 

section

Weight per 

part Total weight

mm mm mm mm² kg kg

1 1 Ash Pan Annex A mild steel 0,75 250 400 0,585 0,585

2 4 Grate (hairpin shaped) Annex A round bar steel 6 331 28,3 0,073 0,292

3b 1 Stove Shell for up to 30cm Pot Annex A mild steel 0,75 200 1000 1,170 1,170

3d 1 Stove Shell for Pans etc. Annex A mild steel 0,75 150 1000 0,878 0,878

4W 3 Tripod Element Annex E round bar steel 6 617 28,3 0,136 0,408

5a 1 Stove Shield **) Annex A mild steel 0,75 120 1000 0,702 0,702

5b 3 Screw M6x40 as Shield Fastener Annex A, red notice galvanized steel resp. A2 0,004 0,012

6 13 Screw M6x16 DIN 933 galvanized steel 0,003 0,039

7 35 Nut M6 *) DIN 934 *) galvanized steel 0,002 0,070

8 9 Washer 6x18 Annex G stainless steel A2 18 1,5 254,5 0,003 0,027

9 1 Protection Punched Strip 17x996 Annex G stainless steel A2 1 17 996 17 0,132 0,132

10 (reserved for rack components) (Annex F)

11 2 Connector Punched Strip 17x12 Annex G stainless steel A2 1 17 24 17 0,003 0,006

12 3 Clamp Punched Strip 17x60mm Annex G stainless steel A2 1 17 60 17 0,008 0,024

13 3 Rope Clamp for Tripod Annex E galvanized steel 6 0,018 0,054

*) preferred serrated locknut (see Fig. G1 and G2) **) 120mm or 150mm width kg 4,40

http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove
http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove

